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Mixed Operations
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Working MathematicCally

1) Enrolments for year 6 at our school are as follows:

65 =25

6P =25

6F = 25

6B =25

6T=11
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How many year 6
students?

2) 7 classes of 28 students went on an excursion with 16 adults.

How many people on the excursion altogether?

3) There are 24 new pegs in a bag. If T buy 5 bags and put them

together with the 26 T already own, how many pegs do I now have?

4) The office building is 26 stories high. There are 14 rooms on the
ground floor and 32 rooms on each of the other levels. How many

rooms in the whole building?

5) A long distance frain employs 12 staff and carries

48 passengers in each of its 8 carriages. ([02°°°0}Q°2200jgeco°fgecoc()

How many people on the train?
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